

تلفیه سے ۲۲

۱۴ افین

۱۴/۱۷

۱۴/۱۷ - ۱۴/۱۷

(۱)

$$f(x) \rightarrow \begin{cases} a + \sqrt{x} & x < 1 \\ b + \sqrt{x} & x \geq 1 \end{cases}$$

$$f(x) \rightarrow \begin{cases} a + |x| & x < 1 \\ b + \sqrt{x} & x \geq 1 \end{cases}$$

$$x \geq 1, b \geq a - b \geq -1$$

$$b \geq \frac{1}{2}, a \geq \frac{1}{2}$$

$$f(x) \rightarrow \begin{cases} -1 & x \leq 0 \\ 1 - \epsilon & 0 < x < 1 \\ \frac{2b}{\sqrt{x}} & x \geq 1 \end{cases}$$

$$f(x) \rightarrow \begin{cases} a - x & x \leq 0 \\ a + x & 0 < x < 1 \\ b + \sqrt{x} & x \geq 1 \end{cases}$$

$$b \geq \frac{1}{2} \rightarrow a + b \geq 1$$

۲

$$f(x) = \frac{|2x - 1|}{\sqrt{x}} = \frac{1 - 2x}{\sqrt{x}} \rightarrow f'(x) = -2\sqrt{x} \cdot \left(\frac{1}{x}\right) - \frac{2x}{\sqrt{x}}$$

۱, ۵

$$x > 1 \rightarrow f'(1) = -\frac{1}{2} \quad g(x) = \frac{(1-x)\sqrt{x}}{x} \rightarrow g'(x) = \left(-1, \frac{1}{\sqrt{x}}\right) \left(\sqrt{x}\right) - \left(1-x\sqrt{x}\right) \left(\frac{1}{x}\right)$$

$$= -1 - \frac{1}{x}$$

(۲)

$$f(x) \rightarrow \begin{cases} b + \frac{1}{x} & x < a \\ \frac{1}{x} & x \geq a \end{cases} \rightarrow \begin{cases} b + \frac{1}{a} & x < a \\ \frac{1}{x} & x \geq a \end{cases}$$

$$-\frac{1}{a} + \frac{1}{x} \geq \frac{1}{a} \rightarrow \frac{1}{x} \geq \frac{2}{a} \rightarrow x \leq \frac{a}{2}$$

۲

$$f(x) \rightarrow \begin{cases} b & x < a \\ b + (x-a)^m & x \geq a \end{cases}$$

$$f'(x) \rightarrow \begin{cases} 0 & x < a \\ m(x-a)^{m-1} & x \geq a \end{cases}$$

۲

(۳)

$$m=1 \rightarrow m \geq 1$$

$$g'(-\sqrt{x}) \cdot f'(g(-\sqrt{x})) \cdot (h \circ g(-\sqrt{x})) \rightarrow x = -\sqrt{x} \rightarrow f(x) = \frac{1}{\sqrt{x}} \rightarrow h \circ g(x) = \frac{1}{\sqrt{x}}$$

$$(h \circ g)'(x) = (f \circ g)'(x) = 1 \rightarrow x' = 1$$

۲

(۴)

$$l(\omega) = -\omega a - \omega, l'(\omega) = -a \rightarrow l'(\omega) \cdot l(\omega) = -a(-a + \omega) = a^2 + a\omega$$

$$a = \frac{c}{r} \rightarrow l(\omega) = -\frac{1}{r} \rightarrow l'(\omega) = \frac{c}{r} \rightarrow \frac{l(\omega)}{l'(\omega)} = -\frac{1}{\frac{c}{r}} = -\frac{r}{c}$$

$$l(q) = \left(a l \left(\frac{a^r}{r} \right) \right)^r + 1 \quad l(g(q)) = \left(\frac{1}{\sqrt{q^r - 1}} l \left(\frac{r}{r} \right) \right)^r + 1$$

$$g(q) = \frac{1}{\sqrt{q^r - 1}} \quad \left(\frac{r}{\sqrt{q^r - 1}} \right)^r + 1 \rightarrow \frac{r^r q^r}{c (\sqrt{q^r - 1})^r} \quad \left(\frac{r}{\sqrt{q^r - 1}} \right)$$

$$q \cdot \frac{c}{\sqrt{q^r - 1}} \cdot \frac{r}{2} = q r \sqrt{q^r - 1} \quad \frac{-q r \sqrt{q^r - 1}}{1 + \sqrt{q^r - 1}} = -\frac{1}{r}$$

$$g(q) = l(q+1) + l(aq+1) \quad g'(q) = l'(q+1) + c l'(aq+1) \rightarrow g'(-r) = l'(1) + c l'(c)$$

$$g'(-r) = \frac{c}{r} + \frac{c}{r} = c$$

$$\lim_{\omega \rightarrow -n} \frac{(l(\omega-n))^r - c l(\omega-n) + r \int_{\omega-n}^{\omega} (-l(\omega-n)) l(\omega-n) + c l'(\omega-n)}{\omega - n^r}$$

$$\frac{l'(\omega)}{\omega} = -\frac{ra}{\frac{1}{r}} = -\frac{a}{1/r}$$

$$ay = aq + 1 \rightarrow y = \frac{1}{r} a + \frac{1}{r} \rightarrow m = \frac{1}{r} \rightarrow m' = -r \rightarrow (q^r - aq + \omega)' = -r$$

$$rq - r = -r \rightarrow q = 1 \rightarrow q = 1 \rightarrow q^r - aq + \omega = r$$

$$f(n) = \frac{r - rn}{\sqrt{nr}} \rightarrow f'(1) = \frac{-r(\sqrt{r}) - \frac{r}{r}(1)^{-\frac{1}{r}}(\frac{r}{r})}{\sqrt{r}} = -\frac{1}{r}$$

$$g(n) = \frac{|n-r| + \sqrt{nr}}{\sqrt{nr}} \rightarrow g'(1) = \frac{(-1 + \frac{r}{r\sqrt{r}})(1) - \frac{r}{r\sqrt{r}}(1 + \sqrt{r})}{r\sqrt{r}}$$

$$g'(1) = -1 + \frac{r\sqrt{r}}{r} - \frac{r}{r} - \frac{r\sqrt{r}}{r} = -\frac{1}{r} - \frac{\sqrt{r}}{r}$$

$$f'(1) \cdot g'(1) = -\frac{1}{r} + \frac{1}{r} + \frac{r\sqrt{r}}{r} = \frac{\sqrt{r}}{r}$$

$$(f \circ g)' = g'(\frac{r}{\sqrt{n}}) \times f'(g(\frac{r}{\sqrt{n}}))$$

$$g(\frac{r}{\sqrt{n}}) = \frac{1}{\sqrt{\frac{r}{\lambda} - 1}} = r \rightarrow g'(\frac{r}{\sqrt{n}}) \times f'(r)$$

$$g'(\frac{r}{\sqrt{n}}) = -\frac{1}{r} (n^r - 1)^{-\frac{r}{r}} \times rn = \frac{r}{\sqrt{n}} \times -\frac{1}{r} \times (\frac{r}{\lambda} - 1)^{-\frac{r}{r}} = -\frac{r}{\sqrt{n}} \times (r)^{-\frac{r}{r}} \\ = -\frac{r^{\Delta} \times \sqrt{r}}{r} = -\lambda\sqrt{\lambda}$$

$$f(n), n=r \rightarrow f(n) = n[\varepsilon]_{+1}^r = nn^r_{+1} \rightarrow f'(r) = rr(r) = 4r$$

$$\frac{-\lambda\sqrt{r} \times 4r}{-1\lambda\sqrt{r}} = r$$